2013 Vehicles Bid 13-020

Commissioners Court 01/08/13:

Road and Bridge Vehicle 7 – Truck

Caldwell Country Chevrolet \$19,751.00 x 11 = \$217,261.00

Replacements to Fleet

Funding: Fleet Management 2013 Budget

Drainage District Vehicle 7 - Truck

Caldwell Country Chevrolet \$19,751.00 x 5 = \$98,755.00

3 New to Fleet and 2 Replacements to Fleet

Funding: Fleet Management 2013 Budget

Constable Pct 1 Vehicle 12 – Ford PPV SUV

Helfman Ford \$25,029.00 x 1

Replacement to Fleet

Funding: Fleet Management 2013 Budget

Constable Pct 1 Vehicle 11 – Ford Special Service Truck

Helfman Ford \$21,925 x 1

Replacement to Fleet

Funding: Greatwood

Constable Pct 1 Vehicle 1 – Tahoe

Caldwell Chevrolet $$25,776 \times 2 = $51,552.00$

Replacements to Fleet

Funding: Mud 23 and 24

Constable Pct 2 Vehicle 3 - Truck Meador Dodge \$20,594.00 x 1

Replacement to Fleet

Funding: Fleet Management 2013 Budget

Constable Pct 3 Vehicle 11 – Ford Special Service Truck

Helfman Ford \$21,925.00 x 1

Replacement to Fleet

Funding: Fleet Management 2013 Budget

Constable Pct 3 Vehicle 11 – Ford Special Service Truck

Helfman Ford \$21,925.00 x 4 = \$87,700.00

2 New to Fleet and 2 Replacements to Fleet

Funding: Cinco Ranch x 3 and Tollroad x 1

Health Department Vehicle 10 - Fusion Helfman Ford \$16,939.00 x 1

New to Fleet

Funding: Fleet Management 2013 Budget

Environmental Health Vehicle 10 - Fusion Helfman Ford \$16,939.00 x 1

Replacement to Fleet

Funding: Fleet Management 2013 Budget

CSCD Vehicle 10 - Fusion

Helfman Ford $$16,939 \times 2 = $33,878.00$

1 New to Fleet and 1 Replacement to Fleet

Funding: CSCD State Funds

Tabulation Bid 13-020 Purchase of Vehicles

Recommendation: Low bidder per item as highlighted

Description	Caldwell Country Chevrolet Caldwell	Caldwell Country Ford Caldwell	Classic Chevrolet Sugar Land	Grapevine Dodge Grapevine	Helfman Ford Stafford	Meador Dodge Fort Worth
Vehicle 1: Chevrolet PPV Tahoe with spotlight and dual battery	\$ 25,776.00	No Bid	\$ 27,543.35	No Bid	No Bid	No Bid
Vehicle 2: Chevrolet PPV Caprice with spotlight	\$ 26,744.00	No Bid	\$ 26,621.30	No Bid	No Bid	No Bid
Vehicle 3: Truck, 1/2 ton, 4 door crew cab, SWB, cloth bucket, power with power driver's seat, TTP	No Bid	\$ 24,089.00	\$ 26,263.01	\$ 24,268.00	\$ 23,699.00	\$ 20,594.00
Vehicle 4: Truck, 1/2 ton, 4 door crew cab, SWB with hardcover, cloth bucket, power with power driver's seat, TTP	No Bid	\$ 25,039.00	\$ 27,188.01	No Bid	\$ 24,729.00	\$ 21,694.00
Vehicle 5: Truck, 3/4 ton, extended cab, SWB, cloth bucket, power with power driver's seat, TTP	No Bid	\$ 24,652.00	\$ 25,492.76	\$ 25,603.00	\$ 24,519.00	No Bid
Vehicle 6: Truck, 3/4 ton, 4 door crew cab, cloth split bench, power, TTP	No Bid	\$ 22,773.00	\$ 24,436.16	\$ 21,598.00	\$ 22,875.00	\$ 20,872.00
Vehicle 7: Truck, 3/4 ton, reg cab, LWB, vinyl split bench, vinyl floor, no power, TTP	\$ 19,751.00	Disqualified: Does not meet minimum specifications	\$ 20,596.00	Disqualified: Does not meet minimum specifications	Disqualified: Does not meet minimum specifications	Disqualified: Does not meet minimum specifications
Vehicle 8: Truck, 3/4 ton, reg cab, LWB, cloth split bench, power, TTP	\$ 20,225.00	\$ 19,401.00	\$ 21,042.25	\$ 21,863.00	\$ 19,299.00	\$ 21,495.00

Description	Caldwell Country Chevrolet Caldwell	Caldwell Country Ford Caldwell	Classic Chevrolet Sugar Land	Grapevine Dodge Grapevine	Helfman Ford Stafford	Meador Dodge Fort Worth
Vehicle 9: Truck, 3/4 ton, extended cab, LWB, cloth split bench, power, TTP	No Bid	\$ 21,323.00	\$ 23,134.16	\$ 21,598.00	\$ 21,425.00	No Bid
Vehicle 10: Four Door Sedan, cloth, power	No Bid	\$ 17,712.00	No Bid	Disqualified: Does not meet minimum specifications	\$ 16,939.00	Disqualified: Does not meet minimum specifications
Vehicle 11: Ford Special Service Truck, 1/2 ton, crew cab, power, TTP	No Bid	\$ 22,237.00	No Bid	No Bid	\$ 21,925.00	No Bid
Vehicle 12: Ford Explorer Police Inceptor Utility, power, cloth, no spotlight	No Bid	\$ 25,510.00	No Bid	No Bid	\$ 25,029.00	No Bid
Vehicle 13: Truck Special Service, 1/2 ton, crew cab, power, TTP	No Bid	\$ 22,237.00	No Bid	\$ 21,647.00	\$ 21,925.00	\$ 21,577.00